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4. AB=3BCo]1, M, N2 AB, BC ¢ do|t}. PC = 28cm, PM =
18cm & EH,W 9] Ado]&?

P A M BNC

@ 6cm @)8cm @ 10cm @ 12cm ® 1l4cm

-3a~ a, a
P e _ A_.-M BNC
~18cm-~
18 + 5a = 28
a=2(cm)

. MN = 4a = 8(cm)
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(2x 4+ 10°) 4 (3x — 40°) = 90°
5x = 120°

LoLx =24°

32° + (y +20°) = 90°

oLy = 38°

SoLx+ Ly = 62°
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7. v IAd”eNA 1/ /m D W, x + 2y O] W27
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(7H £AOB = 60°, /BOD = 3/DOE
(Lh) 2COD = %DOE
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3y +y = 180° — 60° = 120°

4y = 120°

y = 30°

/ L 10°
LIXx= -y =
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10. cheut o] A2 mope] Folg A

52

=, /x+ 2y 9 S

[ 2
> = 120°

LB ~
(EFG = (EGF (= 32 7Z) y=40°
(EGF = (GFC (= 97Z}), (EFC = (AEF (- QZ}) - x =
2y =80°
webA] zx + 2y = 80° +40° = 120°




